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1. Answer any ezght of the following q@sﬁons
, : 1x8=8
- (a) Split genes are characteristic of
C @) Eukary’o_tié Cells Genome
(ii) Prokafyotiq Cell Genome
(ifi) PPLO Genomie

(iV). Random Occurrence
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(b) The proteins which are éttét:héd with gukary- |

otic DNA are © . - 7
() Transferrin and Elastin
(ii) - Prot_anﬁne and Hisfone,
(iif) Transferring and Histone
(iv) Histoﬁe and Transfemn
o .Nucleowlr_le comprise of — base pair
of DNA on it in absence of Hj.
(i) 166 bp |
) 146-147 bp
(iii) 200 £40 |
s @v) All of these (in different conditions)
(d) Criss-cross inheritance is genefally observed
mn .
@ X—Linked ‘Inh'eritance '
(i) ' Y-Linked Inheritance
(iii) Sex-Linked Inheritance
(v) Pseudoélnosomal Inheritance
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(o) *Heteroplasx-n'y fefe’rs to presence of -

®
®
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() More than one mtDNA in the same

mitochondria or different mitochondria
‘within the same cell

~(ii) Only one mtDNA in the same mitochon-

dria or different mitochondria within the
‘same cell-v . _ '

(iii) Same type of mtDNA in the same
mitochondria

(iv) More than one chloroplast DNA in the

same- chloroplast or different chloro-
plast within the same cell
What is transition ?

The relation between linkage and appear--
ance of new trait is

() Linkage is directly proportional to
appearance of new trait

(ii) Linkage is inversely proportional to
appearance of new trait :

(iii) Linkage and appearance of trait is a
concidence :

(iv) None of these
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() F plll are tubes for conjugatlon in bactena :

- and. are present m
(@) F+
- (lll) F" 4

| (b) F+ and Hﬁ _
(lv)Hfr

The phenotypxc ratio of a

®
- 9:7 in F, generation which js

Q) cOmplementary Gene Interacuon
(i) Supplementaxy Gene Interactiop
- (iii) Eplstasw Gene Interacuon

(1v) Plelon'oplc Gene Iﬂteracuon
0
k)

What are tllmour SuppreSSOr gene ?

Fmgerpnntmg experiment Wlth 168, .
23sRNA is also known as SIRNA and

(i) Chlorotyping A'(ii) Mtf;typing

(i) Ribotyping (W) None of these

2.  Write short note on :

4»

| 2><1~2
(@) (}enetlc Drift Or (b) Migration  Or
(©) Bottleneck effect.

- 24eaSEM-DBITI4 (g

dlhybrld cross is -

| (a)

(©)
(d)
(e)
®

(®

- (a)
(b)

C))
(®)

(h)
®

3 Dlstmgmsh between any ﬁve

R

4. Write short notes on any four

(e

©
®H
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2x5=10
Polygemc Tralt and Monogemc Tralt o
S@enllty and Infertlllty |

fRNA and rDNA -

Population and Com@unity ,

F+ and F- Bacterial ‘strain

Nucleotide Excision Repan' and Base EXCl-

~ sion Repair

‘Organelle Genome and Nuclear Genome. :

5x4=20
Endosymbiont theory o |
16S tRNA typing
Molecular Taxonomy
DNA Repair
Metastasis .-
Sex Linked Disorders ~-
DNA Packaging
DNA Barcoding
Comparative. Genomics.
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5. Answer any two of the foﬂov\}ing Questions :

| | | - 8x2=16
.(a) . Describe the role of : . . 2x4=8
- () Homeotic Gene
(i) Hox Gene
(iii) Gap Gene
- Gv) Pair rule Gene,
efine and 0% |
-® giﬁ'erentli)ate chro‘:nof;zleogp ﬁorzl::;m:%
cenu'omel?. Give a brief homenclature of
human chromosome. 8
. *Gene flow and Migrati e the
(‘,:), "p(j;:lﬂation geneurjg.grft;ﬁt?;; thé WI,leels %f
(d) Describe tho diﬁ‘e;ent pathways of apoptosis. -
8
6. Answer any two of the following questions : -
| o 12x2=24
(2) Describe different types of DNA repgiy
3 - | 12
(b) - Describe Haldane’s Rule with Suitéble ex-
amples. 2410=12
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(c).
. of molecular marker..

- (@

~ population.

®

(@®
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‘What aIe-.Ioarkors ? Describe diﬁ'erent'typos |

2+10=12

What is Hardy-Weinberg law ? Mention the
attributes of the law. Mention the 1mpor- .
tance of Hardy-Weinberg law with ,Sp?cml
reference to the allelic distribution I &

24248120
Describe ‘different types of ,non-mendeh;t;l ..

inheritance with suitable examples-

What is molecular taxonomy ? Mentioo its
role in the study of phylogeneti i
ships. , B

What is mutation ? What are the d.ifferent- -
types of mutation ? What is the significanc®

of mutation in evolution of characters- -
1+8+3=12

5+7=12
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